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SECTION-A(w@vs - 31)
Objective Type Questions/ axfsus

Q1. T sRfors & wid = § fhaer sreaee fhar Siem g °?
(ARTERT 3y (B) IU1 IIWIR (GESESICE! (D) S |t

Which of the following is studied under Macro Economics ?
(A)National Income (B) Full Employment  (C) Total Production (D) All of these
Sol. (D)

Q.2. anfde TR o fhd deg o ww § 2
(AYZTa @ (B) SudTadl @d @ (C) BHAIA &Y (D) 37 ¥ ®Ig T8

To which factor, economic problem is basically related to -

(A) Choice (B) Consumer’s selection
(C) Firm selection (D) None of the above
Sol. (A)

Q.3. O Suifier g9 e & ufdures & —

(A*) T+ (B) TeH A (C) =¥ (D) feaa

The propounder of Law of diminishing marginal utility is -

(A) Gossen (B) Adam smith (C) Chapman (D) Hicks
Sol. (A)

Q4. 59 UBR o 93l & Jea¥ HH 81§ A0 F afg T8 B ?
(A)Tfrar TRy (B) 3RMe™® a%¢  (C) faanfuar axq¥ (D) S99 ¥ BIg &
In which type of goods, price fall does not make any increase in demand ?

(A) Necessity Goods (B) Comfort Goods (C) Luxury Goods (D) None of these
Sol. (A)

Q.5. HT & o fbad geR H TN 7 ?
(A) a= (B) T4 (C)®: (D) &ra

How many types elasticity of demand has ?
(A) Three (B) Five (C) Six (D) Seven
Sol. (B)

Q.6. T STRE 99 & fdaR & 7o uiues o= o ?
(AyATefet (B) TR (C) Rarst (D) fat

Who basically propounded the concept of law of Equimarginal utility ?
(A) Marshall (B) Gossen (C) Ricardo (D) Mil
Sol. (B)
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Q7. T8 P9 — A1 999 & 799 Sdred @ 9l A= gRkafad fed o dad § ?

(A)eTeTmTe (B) Srd@mTar (C) srfucTeaTar (D) <=

At which time all the factors of production may be changed ?

(A) Short run (B) Long run (C) Very long run (D) All of these
Sol. (B)

Q8. uRad=eld Ui &1 a9 Frfed 8 —
(A)RTTHTS Ud SIEHTA a1 A (B) SrdadTel A
(C) 3reqeret & (D) &ifer Srefeprer W

Law of variable problem is related to -

(A) Both short run & long run (B) Lon run
(C) Short run (D) Very long run
Sol. (C)

Q9. Hifew ara ¥ freafalRea § few afwfaa faar sar g 2
(AT T4 (B) ad oTT (C) 3rad AT (D) S |+t

Which of the following is included in money cost ?
(A) Normal Profit (B) Explicit Cost (C) Implicit Cost (D) All of these

Sol. (D)

Q.10. SAEH B 9= § yRddT &l u9Td —

(A)ReR Td gRad=efrer emdl W gear 2| (B) a1 URadelel aTdl TR TedT ®
(C) ®aat ReR @FTAl WR Usdl ¥ | (D) 379 ¥ ®Ig 7Ll
Change in quantity of production has effects on -
(A) Both Fixed and Variable Cost (B) Only Variable Cost
(C) Only Fixed Cost (D) None of above
Sol. (B)

Q.11. f»9 IR AR=MR ¥ 81 & ?

(A) THIBR (B) TaTiAIprR wfeoranfrar
(C) (A) derm (B) &1 | (D) gof wfcrifira
In which market AR = MR ?
(A) Monopoly (B) Monopolistic competition
(C) Both (A) and (B) (D) Perfect competition
Sol. (D)
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Q.12.

Sol.

Q.13.

Sol.

Sol.

Q.15.

Sol.

Q.16.

Sol.

Q.17.

Sol.

goi foafiar # g1 ReRr <gar 2 ?

(A) AR (B) MR (C) AR@m MR (D) 37 ¥ ®Ig T8

In perfect competition which of the following remains constant ?

(A) AR (B) MR (C) Both AR and MR (D) None of the above
(C)

ot fem @1 fA=ferRaa § SH—1 Ber el wvar 7 ?

(A) S =1(P) (B)S= (%J (C)S=fQ) (D) 37 ¥ BIg <&
Which of the following function shows the law of supply ?

(A)S = f(P) (B)S = (%J (C) S =1(Q) (D) None of these
(A)

ot # &9 & fr=faRed & 97 RO § ?
(A) S@TET aFTd H afg (B) IO g3l & Sl H afg
(C) 3T # wHAl @) A= H HHI (D) S |+t

The reason of decrease in supply is -

(A) Increase in production cost (B) Increase in price of substitute
(B) Fall in number of firms in the Industry (D) Al of the above

(D)

S 9 Ugel dedl B, fhe ReR BIdx UeHl IR¥™ Bl 8, 98 PI- 9l db Heolldl & ?
(A) APP (B) MPP (C) TPP (D) ST T

A curve which rises first and starts declining after that is called ?
(A) APP (B) MPP (C) TPP (D) All of these

(D)

IET H dfg & WI—A1Y FA AN U4 Bl IRaRie g H R —

(A)FedT ST ® (B) ggaT STIaH ® (C) RerR <&am & (D) 379 | BIS T8 |
With increase in output; the difference between total cost and total variable cost -

(A) Decrease (B) Increase (C) Remains constant (D) None of these
(C)

fp qroR ¥ a%g favwe U S @ ?

(A Ffrarf (B) ot mfdanfiran (C) iR (D) TFTRIGRY wferanfi
Which of the following does not characterize the business environment ?

(A) Pure competition (B) Perfect competition

(C) Monopoly (D) Monopolistic competition

(D)
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Q.18. UHTIGR IR A gomian g ?
INSRUESRIER] (B) fad=or gorrett
(C) aroiR yaf (D) 37 ¥ ®Ig T8
What does a monopolistic market show ?
(A)Production Process (B) Distribution system
(C) Nature of market (D) None of these
Sol. (C)
Q.19. TSR & forv f=falRad & &9 A1 $oF & ® ?
(A) B8 g fRuike e 2 (B) |7 ash FOTHS Tel dTell BICT 8
(C) @ra favg o a1 B AHh § (D) Sudaq wht
Which one of the following is true for monopoly ?
(A) Firm is price maker (B) Demand curve slopes downwards
(C) Price discrimination possibility arises (D) All of the above
Sol. (D)
Q.20. A a%g &1 gou MuifoR gar & -
(AT & gRT (B)Ufd & g™ (C)HfT w@ gfd & )1 (D) TRBR g
The price of a good is determined by -
(A) Demand (B) Supply
(C) Both demand & supply (D) Government
Sol. (C)
Q.21. 9OIR oI |Rfd BIdl § —
(A) AIfA B o I (B) AT I 9 (C) g Iou ¥ (D) =7 & 9+
Market price is associated with -
(A) Price for very short period (B) Normal Price
(C) Permanent Price (D) All of above
Sol. (A)
Q.22. HT # yRadw & fr=falRad § & &9 9 BROT B ?
(A) SUHTERIT &Y M H gRadd (B) T sl & dd ¥ aRad
(C) wraw=n dfg (D) Swfa i
Which is a reason of change is demand ?
(A) Change in Consumer’s Income (B) Change in prices of Related Goods
(C) Population increase (D) Allof these
Sol. (D)
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Q.23. IR H qeg @ B 39 g w FuiRa 2 g, o=t -
(A) a&g @1 |11 > g B gid (B) Ty @I | < g%g & gid
(C)ag @ 1 = g @ gfl (D) 37 | ®Ig T8I
Price of a good is determined at a point where -
(A) Demand > Supply (B) Demand < Supply (C) Demand = Supply (D) None of these
Sol. (C)
Q.24. wEfc e srag+ & —
(A) srFTaRT § AR & AAAR B (B) awgaili @ gfi w1
(C) THex § # &l drd &l (D) IR § AZ B HHAd B
Macro Economics studies -
(A) Employment opportunities in economy (B) Consumption Theory
(C) Elasticity of demand in Scooter (D) Price of wheat in market
Sol. (A)
Q.25. wWid & ra A=felRad § & e ® 2
(A) a1 BT gRRATg (B) &=
(C)Ie™ ¥ T A @ AT (D) S |+t
Which one of the following is included in ‘Stock’ ?
(A) Quantity of money (B) Wealth
(C) Quantity of wheat stored in warehouse (D) All of these
Sol. (D)
Q.26. forarae o feas aftaferd wgar g 2
(A) GNPyp (B) NNPyp (C) NNPgc (D) for=ft % =8
Depreciation expenses are included in -
(A) GNPyp (B) NNPyp (C) NNPgc (D) None of these
Sol. (A)
Q.27. I g F fofeRad § I fed anfie fear Siar 8 °
(AYSTTIH, AT &1t (B) &I, ASIGR!, 9+
(C) o=, oy, =TSl (D) T, ASIgX, da, &1, o
Which one is included in National Income ?
(A) Rent, Wage, Interest (B) Rent, Wage, Salary
(C) Rent, Profit, Interest (D) Rent, Wage, Salary, Interest, Profit
Sol. (D)
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Q.28. U® Ifdwell § HI—1 &5 affdferd v&ar g ?
(A)yurefis (B) fe<iras (C) T (D)A =
Which sector is included in an economy ?
(A) Primary (B) Secondary (C) Tertiary (D) All of these
Sol. (D)
Q.29. fg<ius e # f=faRaa # o < ward afsfea g 2
(AydHT (B) fafestor (C) @R (D) §fFa
Which one is included in Secondary Sector ?
(A) Insurance (B) Manufacturing (C) Trade (D) Banking
Sol. (B)
Q.30. ®IF A B T ® ?
(A)MPC + MPS =0 (B) MPC + MPS < 1
(C) MPC + MPS = 1 (D) MPC + MPS > 1
Which one is true ?
(A)MPC + MPS =0 (B) MPC + MPS < 1
(C) MPC + MPS = 1 (D) MPC + MPS > 1
Sol. (C)
Q.31. o9 & RuRe e d-—0 8 ?
(A)IST @ MG e (B) &S @l &% (C) (A) 3R (B)ami (D) 37 ¥ ®Ig T8
Which is the determining factor for investment ?
(A) Marginal Efficiency of capital (B) Interest Rate
(C) Both (A) and (B) (D) None of above
Sol. (C)
Q.32. 3= & QU Rigia Fefaled 9 feds o e it w=ar g ?
(A) a9 gerr 3mg & 99 (B) 3 TAT SUHRT & &1
(C) g du1 fawr & 9= (D) STHABIS AR
Keynesian multiplier establishes relationshop between
(A) Investment and Income (B) Income and consumption
(C) Saving and Investment (D) None of these
Sol. (A)
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Q.33. ITEIfad RTA Y SIMA—
(AyATT 7 TSN & afg & B | (B) ufct ¥ oot & afg &l 2
(C) gfdt wa w1 Al a_TeR BT B | (D) 37 & PIS T
In the situation of deflationary gap -
(A) Demand increase reapidly (B) Supply increase rapidly
(C) Both demand & Supply are equal (D) Noneof these
Sol. (B)
Q.34. DI DI 3pfgaRe H JF WA B G BT fHF 9 4§ gHRI B ?
(A) TOT JISFTR Al (B) 3TgUl SRR Al
(C) (A) 3R (B) <41 (D) S99 ¥ BIg &
In Keynesian Economics, the state of deficit demand is called as -
(A) Full employment equilibrium (B) Non full employment equilibrium
(C) Both (A) & (B) (D) None of these
Sol. (B)
Q.35. =gA d4M Bl AP P @ forg Fr=ferRea § o9 ¥ Aifas Su fg o @ad 8 2
(A) §F S H FH (B) ol IR ¥ uferffarai @i
(C) THE HIY UM I HH HIAT (D) S |+t
Which monetary measures may be adopted to correct deficient demand ?
(A) Reduction in Bank Rate (B) Buying securities in open market
(C) Reducing Cash Reserve Ratio (D) Al of the above
Sol. (D)
Q.36. aw—fafma yomel & fr=iferRed § d—d o™ g ?
(A) TR JoTTelt (B) 3R AT # afg
(C) 3 RFATIATE 21 (D) SURTFTTH
What are the advantage of Barter System ?
(A) Simple system (B) More mutual co-operation
(C) No Economic Disparties (D) All of above
Sol. (D)
Q.37. 1 fa® B9 $1 FE AGHA DA & ?
(A)axg gaT, 79 FaT, &g g1 (B) 9%g H=1, o1 1, IF &1, I G,
(C)|rE@ Hg1, u1g g1, U3 Hal (D) 579 & BIg T
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Sol.

Q.38.

Sol.

Q.39.

Sol.

Q.40.

Sol.

Q.41.

Sol.

Q.42.

Which is the correct order of money evolution ?

(A) Commodity money, Paper money, Metal money

(B) Commodity money, Metal money, Paper money, Credit money
(C) Credit money, Metal money, Paper money

(D) None of these

(B)

MRS §hi gRT WHR BT S arell TgE SN DI W & ?
(AyaTe] ST (B) ga <1 (C) wrafers S (D) SURIERT A

Deposits accepted by the commercial banks -
(A) Current Deposits (B) Saving Deposits (C) Time Deposits (D) All of these

(D)

ATM &1 gof &9 @1 § ?
(A) T eTgH | (B) 3ffet <189 A+ (C) 3fferes 2Rk #73MH (D) (A) iR (B) SH

The full form of ATM is -

(A) Any Time Money (B) All Time Money
(C) Automated Teller Machine (D) BothA &B
(C)

a9 frF & yrg Seed fefaRed § a9 A 8 ?
(A) DA ReRar wnfud &3 (B) faceh fafma e # Rerar o
(C) ITEH UG ISR afg & IuTT HAT (D) SWRIad A+

Which is the major objective or credit control ?
(A) To maintain price stability (B) To stabilize exchange rate
(C) To promote production and employment (D) All of the above

(D)
P 9B §RT P &1 SR &I SRl & ?

(A) FerT ga (B) & g1 (C) Ry (D) &4 & wfl
Which type of currency is issued by Central Bank ?

(A) Currency notes (B) Credit money (C) Coins (D) All of the above
(A)

frfoaled & 9 a9 eI R B ?

(A) ST Yobh (B) fasmt &= (C) &1 gob (D) =7 & 9+
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Which of the following is an Indirect Tax ?
(A) Excise Duty (B) Sales Tax (C) Custom Duty (D) All of the above

Sol. (D)

Q.43. 9oic UIfaal & duesd H=falad § &9 8 ?

(A)RTSTT TTfeit (B) Usfrma wrfet (C) (A) 3R (B) aFi (D) 3 ¥ I3 8l

Which is component of Budget Receipt ?

(A) Revenue (B) Capital Reciept (C) Bothe (A) and (B) (D) None of the above
Sol. (C)

Q.44. U PR T —

(A) 3TITR (B) SUBR @R (C) (A) 3R (B) aFi (D) 3 ¥ I3 a1

Direct tax -

(A) Income Tax (B) Gift Tax (C) (A) and (B) Both (D) None of these
Sol. (C)

Q.45. f=falRed § & oF-A1 @9 6 g & i § gar g ?

(A) ToinTd @ (B) o = (C) (A) 3iR (B)]THI (D) 519 & BIg T
Which type of expenditure is made in bridge construction ?
(A) Capital Expenditure (B) Revenue Expenditure
(C) Both (A) and (B) (D) None of these
Sol. (A)

Q.46. UR | &1 37f Bl —
(A) TSl & o<1 | (B) a3l & a1mard wa ot |
(C) g wfse dan sfae 4 (D)3 &

Balance of Trade means -

(A) Capital Transaction (B) Import & Export of Goods
(C) Total Debit and Credit (D) All of these
Sol. (B)

Q.47. 3S Yel & I=vid fA=felRad & faw afaferd fear Srar g 2
(AYdfaT (B) STeToR™1 (C) = (D) T Y

Which one is the invisible item of Balance of payments ?
(A) Banking (B) Shipping (C) Communication (D) All of above

Sol. (D)
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Q.48.

Sol.

Q.49.

Sol.

Q.50.

Sol.

Q.1.

Sol.

Q.2.

Sol.

e @i o FrefeRad § e 7S § ?
(A)EeT W& &1 ImATa (B) wieadi &1 @d (C) sz w]i &1 (D) Sudad a1

Which one is the item of Current Account ?

(A) Import of Visible items (B) Expenses of Touris
(C) Export of Visible items (D) All of these

(D)

ol @ & o FefaRea # f6a nfie fean smar g 2

(A) TSR A (B) foh & (C) faz=h et faffarT (D) Swdad a1
Which one is the item of Capital Account ?

(A) Government Transactions (B) Private Transations

(C) Foreign Direct Investment (D) All of above

(C)

IfpTT ArpuTed ArerT Ty fhd ¥ @Y T8 ?
(A) 1990 (B) 1995 (C) 1997 (D) 2000

Banking Ombudsman scheme was announced in the year -
(A) 1990 (B) 1995 (C) 1997 (D) 2000

(B)

SECTION -B

Write any two problems of an Economy. (1 Mark)

fIIRAT B DI &l TR o |

(i) What to produce.
(ii) How to produce.

Mention any two factors that affect price of elasticity of demand. (1 Mark)

HET BY AT BT g9Ifad B el fhsl a1 Tl Bl 9aTsy |

(i) Nature of commodity.
(i) Close substitute.

Resonance”’

Educating for better tomorrow geqnance Equventures Lid. CIN-UB0302RI2007PLC024029 Page 11




Q.3. What is the meaning of budget line ?
goTe ¥ET 1 37 g ?

Sol. Budget line is a line which shows all those combinations of two goods which a consumer can afford
by using his entire monetary on both the commodities. At every point on the budget line total income
will be equal to total expenditure. Budget line depends on prices of two commodities and monetary
income of consumer .

Vertical intercept of budget line represents the amount of Y commodity that can be purchased by the
consumer if he spends his entire monetary income on Y commodity. Horizontal intercept of budget
line represents the amount of X commodity that can be purchased by the consumer if he spends his
entire monetary income on X commodity .

Budget line is a line which shows all those combinations of two goods which a consumer can afford
by using his entire monetary income on both the commaodities.

At every point on the budget line total income will be equal

to total expenditure. Y4

(Px*xQx )+ (PyxQy)=Mi

Here - Px = Price of X commodity ;
Py = Price of Y commodity ;
Qx = units of X commodity ;
Qy = units of Y commodity and
M.I. = Monetary income of consumer.

Units of Y Commodity
w

0 2 4 6 8 1
Units of X Commodity

Q.4. Give two examples of variable cost.

IRadTMNe aa & 31 ISR IR |

Sol. (i) Raw material (i) Labour

Q.5. Mentionany two factors which affect the supply of a commodity.

¥ B gid BT gAIfad R el B Q1 PRSP BT qdQ ?

Sol. (i) Change in price of given commodity
(i) Change in price of input

Q.6. What are the two main features of monopoly ?

PR B &1 ygE fRwan @1 8 ?

Sol. (i) Single producer
(i) No close substitute available in market.

Resonance”’
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Q.7.

Who determines price under perfect competition ?

ot gfoafiar § amd fRuiRe e @ g ?

Sol.
Y Y
(A)
3 Su 3 (B)
g \\§/ £
P N P AR = MR
D,
X X
0 Quantity © Quantity
In perfect competition market, the price of the commodity is determined by the powers of
market demand and market supply.
It means that the firms are adopting the dependent price policy, because they are producing a
very minute fraction of the total supply of the market.
Q.8. How is price affected by increase in Demand ?
Sol. Demand of a commodity affects its price positively. Therefore as the quantity demanded increases
and supply remains constant, the equilibrium price and equilibrium quantity, both will increases.
In the present diagram on the X axis -
Quantity of the commodity on the Y axis —
Price of the commodity .
D,
S
D /
PN~ E,
9 [
a :
P E
|
|
l X
o] Q  a
Quantity
Q.9. Whatis Rent ?
Sol. Rent is any Payment to an owner or factor of production for use of the factor. Such as amount
payable to the landlord for the use of land.
Q.10. Which who transactions determine Balance of Trade ?
Sol.  Visible import and export of material goods.
Q.11. Give two examples of Direct Tax.
Sol. Income Tax and Corporation Tax.
Resonance®
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Q.12.

What is meant by credit control ?

Sol.  Credit control is a major weapon of the monetory policy used to control the demand and supply of
money in the economy.

Q.13. State any two qualities of good money.

Sol. (i) Acceptable to all
(i) Durability

Q.14. Write any two importance of Macro Economics.

Sol. (i) It is very important for evaluating the over all performance of the economy in the terms of

national income.
(i) It helps to bring a check on various national problems like inflation, unemployment,
balance of payment etc.

Q.15. What is an open Economy ?

Sol. Itis an economy in which there are economic activities between the domestic community & outside
people and Business can trade in goods & services with other people & businesses in the
international community & funds can flow as investments across the border..

Q.16. What do you mean by GNP ?

Sol.  Gross National Product at market price is the sum of market value of all final Goods and Services
produced by the normal residents of a country during an accounting year .

Q.17. Define Secondary Sector of the economy.

Sol. In includes industries that produce a finished, usable product are involved in construction. This
sector takes the out put of primary sector and manufactures finished goods.

Q.18. What is meant by aggregate supply ?

Sol.  Aggregate Supply is the total supply of all final goods and services by all the producers or sellers of
the economy at given price level.

Q.19. Write two main causes of Excess Demand ?

Sol. (i) Increase in money supply due to deficit financing.

(i) Increase in demand due to Increase in credit-facilities.

Q.20. What is meant by Monetary Policy ?

Sol.  Monetary policy is a programme of action undertaken by the central bank to control & Regulate the
demand. For supply of money with the public & the flow of credit — to achieving predetermined
macro economic goals.

Q.21. Write any two recommendations by first Narsimham committee.

Sol. (i) SCR which are around 38.5% was bought down 28%

(i) CRR was also bought down 14% to 10%.
Resonance®
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Q.22.

What is marginal utility ?

Sol.  "The change in total utility with the consumption of one extra unit of the commodity, is known as
marginal utility ." or "The utility derived from the last unit of the commodity is known as marginal
utility ."

MU = TU, - TUn_4

Here, MU = Marginal Utility

TU = Change in total utility

TU, = Total utility from ‘n’ units of commodity.

Q.23. What is the relationship between price and demand?

Sol. There is inverse relationship between price and demand.Expansion of demand with fall in price &
contraction of demand with rise in Price.

Q.24. State the law of supply.

Sol.  "Expansion in supply at higher prices and contraction in supply at lower prices, is known as law of
supply, when other factors remains constant".

Y

N S
P, S, P, E,
1 40 P {
2 50 P, {;/
3 60 Q 2

2 > X
° QL%ntiCtly &

Q.25. What is meant by Fixed Cost ?

Sol.  The cost of production which incurred on fixed factors of production, is known as fixed cost. It does
not change with the change in output.

For example - Rent, wages to permanent employees, interest, Premium of insurance etc.

Q.26. Explain the characteristic of Indifference curve.

Sol. (i) Points along with the same indifference curve represents the same level of satisfaction .
All the points along the same indifference curve represents all those combination of two
commodities which provides the same level of satisfaction to the consumer.

Y

N

A
Units y \
of y v, B
\ IC
®) X X, > X
Units of x
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(i) Different Indifference curve represents different level of satisfaction. If many indifference
curves are shown in single diagram then every indifference curve represent different level of

satisfaction.

Y
A
Units
ofy IC,
IC,
IC,
0 _ >X
Units of x

Curves nearer to origin represents lower level of satisfaction and curves which are away

from origin represent higher level of satisfaction.
(i) Higher indifference curve represents higher level of satisfaction.
Higher indifference curve shows higher level of satisfaction in comparison to lower
indifference curve, because along the higher indifference curve we are using more units of
Y

/

A\

A \ IC,

<<
/W
@]

N

<

Commodity y
O

O X X, X,
Commodity x
one commodity with the same units of another commodity or more units of both the

commodities. Therefore the satisfaction level of such combinations will be more .
(iv) Indifference curves are negative sloping. Indifference curves are always slopes downwards
to the right or negative sloping, because if consumer increases units of one commodity, then

to maintain the same level of satisfaction consumer has to decrease the units of another

commodity.
Y
A
oy A
Units
f
oYy, B
IC
> X
O X X4
Units of x
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So as the units of X is increased then units of Y has to be decreased and vice-versa. Due to
this negative relationship indifference curves are downward sloping .

(v) Indifference curves are convex towards the origin. Indifference curves are convex towards
the origin because marginal rate of substitution continously decreases. It is because as the
stock of one commodity increases its marginal importance for the consumer will continously

Y
P A
i>-, B Convex to origin
g Q
€ R ¢ \C
Q . D
°s IC
> X
O 42 3 4

Commodity X
decreases, therefore he is ready to sacrifice lesser and lesser units of one commodity for
the every extra unit of another commodity to maintain the same level of satisfaction.
(vi) Indifference curve need not be parallel to each other.

Indifference curve may be or may not be parallel to each other, it depends on marginal rate

of substitution. If marginal rate of substitution is same for two indifference curves then the

Y

A
>—
2
-
(@)
&
€
3 Ic,

IC,
IC,
- > X
O Commodity X

slope of the curves would be same and the curves would be parallel to each other. But if
marginal rate of substitution is different then curves would be non—parallel to each other.

(vii) Indifference curves never intersect each other. Two or more indifference curves never

intersects each other, because every indifference curve shows different combinations of two
goods which represents different level of satisfaction.
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(viii)

>
P
°
(@]
£
Sy A
C
’ IC,
Y, B
IC,
) X X, > X
Commodity X

If two indifference curves intersect each other then it will discard the basic assumption, that

higher indifference curve shows higher level of satisfaction

Indifference curves never touches any of the axis. Indifference curve do not touches any of
the axis, because if indifference curve touches any of the axis then it would mean that the

quantity of one commodity becomes zero.
Y

N

Commodity y
I3)

IC,
> X

o Commodity X
If indifference curve touches X axis then it means that units of Y commodity becomes zero
and if indifference curve touches Y axis then it means units of X commodity becomes zero.
As ordinal approach considers that consumer is consuming two or more commodities at a
time.

Q.27. What are the exceptions of Law of Demand ?

Sol. The reasons responsible for this are as follows :

(i)

(i)

Giffen goods : There is a positive relationship between price of commodity and demand of
Giffen goods (such as Maize, barley, etc.), which means that there is a fall in demand of
giffen goods with the fall in its price and vice-versa. As the price of Giffen goods decreases
consumer shift the resourses from Giffen goods to normal or

superior goods and as a result demand for Giffen goods decreases even with the decrease

in their prices.

Prestegious goods (Goods of distinction) : There are many consumers which purchases
certain goods only for their prestige or to use those goods as to show their status (as a

status symbol).

Reson
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Q.28.
Sol.

(iii)

(iv)

(v)

For eg. Jwellery, precious stones, old paintings, etc. As the price of these goods increases
they become more prestigious and that's why these type of consumers increase their
demand and as the price of these goods decreases they become less prestegious or
becomes a normal goods and that's why they will decrease their demand.

Necessay Goods : The demand of necessary goods is less affected by the change in price,
such as demand of food grains, salts, demand of medicine for patient, etc. The demand of
these goods does not decrease with the rise of price and demand of these goods does not

increase even with the fall in their price.

Addiction : When the consumer becomes an addict of using a particular commodity or
particular trademark or particular brand then his demand remains unaffected even with the
change in its price because he require a definite amount at definite time.

Expectation of further change in price in near future : As price of the commodity rises
and there is expectation of further rise in price in near future then consumer will demand
more units of the commodity presently even with the increase in its prices (because the
consumer prefers to purchase the commodity when the commodity is cheaper).

But if the price of the commodity falls and there is expectation of further fall in price in near
future, then the consumer will decrease the demand presently even with the decrease in
prices.

Explain the law of Diminishing Return.

Law of diminishing returns :- In short run period, when other factors of production remains

constant. If MP decreases with the increase in units of variable factor, then it is termed as law of

decreasing returns.

Assumptions —

U

(i)
(iif)
(iv)
(v)

This law is only related to short run period.

One factor of production is variable while others are fixed.
Units of variable factor are homogeneous and divisible.
Management and production technique will remains constant.

Output is expressed in physical terms not in

Fixed N | TP | AP | MP
Factors|(V.F.)

1 1 | 40| 40 | 40 Output

70| 35 ] 30 AP
90 | 30 | 20 MP

X
100] 25 | 10 O Units of V.E.

1
1
1

A WN
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When this law applies to a firm its MP and AP of variable factor both decreases, with the increase in
units of variable factor, but MP is lesser than AP.

Therefore AP and MP both curves are downward sloping.

Q.29. Explain the meaning of average cost. In short-run, why is the cost curve U shaped ? Discuss.

Sol.  “The cost of all types of means of production which incurred on the production of single unit of
output, on an average, is known as AC.” It is the sum of average fixed cost and average variable
cost, therefore it is also termed as average total cost or per unit total cost. It can be calculated by
dividing the total cost by the total number of units produced.

AC = AVC + AFCORAC =TC/Q
Q| AFC | AVC| AC
ol ——1--1-- * _ IC
1| 100 | 100 | 200 AC= -5- AC
2] 50 90 | 140 =AVC + AFC
31333]| 8 [113.3 Cost
41 25 80 | 105
5 20 84 104
6| 166 | 90 |106.6
7114319711114 X
8 | 125 | 105 | 1175 0O Output

The slope of AC curve is just like 'U' shaped due to implementation of laws of returns in the firm.

Initially when law of increasing returns applies to the firm, its AC decreases When law of constant

returns applies AC reaches to its minimum point and later with the increase in output, law of

diminishing returns applies and that's why AC increases.

Q.30. Explain the Income method for calculating National Income.

Sol. Income method involves the following steps :

()] Identification and Classification of Producing Enterprises : First of all the producing
enterprises in the domestic territory is identified which employ different factor input. Then all
the producing enterprises are broadly classified in three —

(a) Primary Sector: Those producing enterprises are included in this sector which
produces goods by exploiting natural resources, such as land, water, forest, mines
etc. This sector includes agriculture and allied activities, fishing, forestry and
logging, mining and quarrying.

(b) Secondary Sector: Those producing enterprises which uses the produced goods
of primary sector as a raw material for production process, are included in
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Q.31.

Sol.

(In

(1)

(Iv)

secondary sectors. Such as construction; manufacturing; water, electricity and gas

supply.

(c) Tertiary Sector: Those producing enterprises which produces services for primary
and secondary sector is included in this sector, such as banking, insurance,

transportation, communication, trade and commerce, etc.

Classification of Factor Income : The income received by different factors in these

producing sectors is classified in following groups :

(a) Compensation of Employees : It is the Economic Return which is given to the
Labourer for their labour services which includes Wages and Salaries in Cash ,
Payment in Kinds, Employers Contribution in Social Security Schemes, etc.

(b) Operating Surplus: It refers the Income from Property and Entrepreneurship. It
occurs in Private and Government Enterprises which includes Rent , Royalty ,
Interest and Profit (Dividend + Corporation Tax + Undistributed Profit) .

(c) Mixed Income : It refers to the Income of the Self Employed Person which uses
means of production owned by himself such as income earned by doctor from his

own clinic, etc.

Calculation of Domestic Factor Income (NDPg¢) : All these factor income is added at
individual enterprises level and then by adding factor income of similar enterprises we
receive factor income of industry and by adding factor income of all the industries we
receive NDPgc. While calculating domestic income we have to add all factor income which is
generated inside the domestic territory whether it is generated by normal residents or non

residents .

Calculation of National Income: National Income can be obtained by Adding Factor
Income from Abroad and Deducting Factor Income to Abroad to NDPgc .

NNPgc = NDPgc + Net Factor Income from Abroad Net Factor Income from Abroad: It refers
to the difference between the income received from abroad for rendering factor services by
normal residents and the income paid for the factor services rendered by non-residents in

domestic territory of a country.

Explain the concept of Domestic Product. Distinguish between Gross Domestic Product and Gross

National Product.

Domestic product is the sum of value added by all the producers in the domestic territory of a

country during a year. It means all value-added activities which are performed within the domestic

territory would be included, whether this activity is done by the Indians or foreigners.
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Gross Domestic Product

Gross National Product

Domestic product is the sum of value added by

all the producers in the domestic territory of a

National product is the sum of value added by

the Normal residents of a country whether with

country during a year, whether the value added | in the domestic territory or out side the

is done by Indians or foreigners. domestic territory.

It is an Territorial concept because it define It is an Economic concept because it define

with the reference to domestic territory. with the reference to productive efforts of

Normal Residents.

It does note include Net Factor Income from It includes Net Factor Income from Abroad.

Abroad.

Q.32. How employment is determined by savings and investment ?

Sol.  The Equilibrium Level of output of an economy can be determined by A.D.(C + |) and A.S.(C + S)
approach or by | and S approach. Both these approaches provides the same conclusions. By S and
| approach, the economy will be in equilibrium at that income level where saving and investment are
equal or saving function curve intersects the investment function curve.

Y [C [S [I |Bfectonempl./ 2V

output / Income § S
0| 20|-20| 10 Bmpl. T 8
40| 50|-10| 10| D> ASOUput 1 2 | E |
80| 80| 0| 10 ncome 1 o /

120 | 110 | +10 | =10 | _, EquilibiumAD= AS g0 Y X

160 | 140 | +20 | 10 Empl. = / National Income

200|170 +30| 10 AD< ASOutput 4 g S

240|200 | +40| 10 Income 4 3

Y'\
In the present diagram SS is the saving function curve, which shows the desired saving at each
level of income by all the savers of the economy. Saving function curve starts from below the origin
because at lower income levels savings are negative (because consumption is more than income).
As the income increases saving will also increases. That's why saving function curve is upward
sloping.
Here we assumes that firms plans to invest the same amount at different level of income
(autonomous investment), therefore investment curve is parallel to X axis.
At ‘E’ point in present diagram | = S, which shows the equilibrium point of economy. So at output
level ‘OY’ planned saving and planned investment are equal to ‘EY’. In the present example when
income was Rs 120 crores saving and investment are equal to Rs 10 crores each. Therefore Rs 120
crore is equilibrium level of income of economy.
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Q.33. What do you mean by inflation ? Does it affect price and output ? Give reason.

Sol. Inflation is a sustained increase in the general price level of goods and services in an economy over
a period of time.
Due to inflation the general price level rises, each unit of currency buys fewer goods and services;
consequently, inflation reflects a reduction in the purchasing power per unit of money — a loss of real
value in the medium of exchange and unit of account within the economy.
In the situation the rising prices stimulate the production of all goods — both of consumption and of
capital goods. As producers get more and more profit, they try to produce more and more by
utilising all the available resources the their disposal.
However, such favourable effects of inflation upon production are not always found. Sometimes,
production may come to a standstill position despite rising prices, as was found in recent years
in developing countries like India.

Disclaimer Clause :
These Solutions are prepared by the Expert Faculty Team of RESONANCE .
Views and Answers provided may differ from BIHAR BOARD due to difference in assumptions taken in support of the answers .

In such case answers as provided by “BIHAR BOARD” will be deemed as final .
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